EARAROBREBRT —5 XN—ZXBISH—F

2023548388 () 105018

WM C2—-4 C2 U>F—

‘(fﬁ} W ‘I%EH?’JFE‘?] | 5 100 w8

[AE%] 17&:700,00 F  27&:245,000 W  337%&:140,000 .~ 43 :105,000H . 5 7&:70,000

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
g— B o5 | HEHER 1:30.6 1-1-1-1 | 39.7| - 1 504 | ESESE (AN
11810/ ¥2—0/ 56.0 =) 45 |TEEE B
RiVa—hn7FF—/ B:F3VIAIIAR BRBUS
7 | ANBEE 1:31.1 4-4-5-5 |39.6 | — 6 506 | tAAKREE (BAD)
2 7| RARKILTUHAR # 56.0 21/2) “3) RITEALD
RTFUBARIVR B:HS)) s
¥ — 4 6 | LIS 1:31.4 7-5-4-4 |39.8| — 9 476 | Bp— (&5
30111 XA70—-k 5.0 (1172 (-3 |IOE#R
R:/YTURN BiIUEPITRUR JURUKIS
W o4 | BRBR 1:31.4 9-9-10-9 |39.2| -— 7 | 449 |#DIBE =H)
4|55 | YvFF 56.0 (ZL) (-q) |ETRER
R:AN/VUwF— B:ehAUTA AR BEE
STF i 5 | BIIE 1:31.4 10-10-9-8 |39.3| — 2 | 489 |THER (SH)
5 2| F3~¥FT 13 54.0 NF) ) | NI PRI T 4 VTR
RIRwSXVTF BFRSFAL =IB%is
1 s 5 | LERE 1:31.5 3-3-3-3 |40.4| - 4 | 500 |EDEMEE ()
61811/ ¥13ILvhb 54.0 o15) e | (@ J PN
RNV =)l B:FUF—F+0O) PFHOKS
Q o4 | ZHENED 1:31.7 2-2-2-2 | 40.5| - 5 479 | AAREER) (A0
707 8 ANYURT 5.0 M o | BEEFT
RiVZRAI—ZZRI— BN-RFAZXFA b 7S RS
R — ft 4 | KHFAE 1:31.7 6-7-7-6 |39.8| — 3 481 | MEIEX (FH)
s 4| E—RFYI—L 5470 “6) e | ZEET
RPAUAYRA NIAY b 8:FA095—=7F S—L— - VNV - T7—LERE
~ ~ et :31. -6-6- . - MBIEX (F0)
9179 2TYIHITHY 4 4 50 1(73::‘)5 5-6-6-7 | 40.1 10 (4_45?; lj\géﬁﬁ =
RiFVHh—T0 B:Fv bV FREYS
Y e~ e~ ~ KIEHEER 133, -8-8- . - f)llBE (&)
" - BEEPASPEY, "8 - S A R T E s
R:gd7=x B:~UFLYIR HBEIT7—LA
3~ ) 4 | FEEAER 1:33.3 11-11-11-10| 40.8 | — 8 493 | tAAREE (BH)
1 3 IA(>YJa—Ya " i‘:]FE.O (3/4) -2) IEJEEE'E;EB
RAASR=Z—9 B:I—-yvaAVIr— RIS
@ 1—F—&RIEL
13—7— 10,8,11,7,9,4,1,6,5,2,3
20—F— 10,8,11,7,1,9,4,6,5,2,3
30—7— 10,8,11,1,7,9,4,6,2,5,3
40—F— 10,8,11,1,7,4,9,2,5,3,6
0 ILRE
BB 10 190 JA R 7-10 500/ e B 6-8 1,150 3EE 1-7-10 22,170
B B 10 160/ 1-10 2,940M 5 & 7-10 1,390 3EH 10-7-1 40,360M
7 240 1-7 4,730 B8 10-7 1,250
1 1,3104

ABIC OV TRUTEREERRODDZE. THRIIZEL.




